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Radioactive lichen. Lichen has a high absorbance capacity for radiation fallout from nuclear

accidents. University of Alaska researchers collected nine lichen specimens at various locations and

measured the amount of the radioactive element cesium—-137 (in microcuries per milliliter) in each

specimen. [he data Uz(m/ conertzd 4o Log artthms owe @4 ves. tnthe
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Location |
Bethel -5.50 -5.00
Eagle Summit —4.15 —4.85
Moose Pass -6.05

Turnagain Pass -5.00

Wickersham Dome —-4.10 —4.50 —4,60
Based on Lichen Radionuclide Baseline Research Project, 2003, p. 25.
Orion, University of AlaskaFairbanks.

Assume that in previous years the mean cesium amount in lichen was p = .003 microcurie per
milliliter. Is there sufficient evidence to indicate that the mean amount of cesium in lichen specimens

differs from this value?
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